L8 X

BOX BLADE
BB4SC, BB5SC, BBS5, BB6, BB7







Position Item No. Description Qty
1 -
SBX402 Scarifier Shank - 3/4" x 2 1/2" 14" - 4 hole (prior 4-5
to 11-23-21)
SBX602 Scarifier Shank - 3/4" x 2 1/2" 18" - 4 hole (prior 5-6-7
to 11-23-21)

2 SBX701-485C |Frame - Box Blade BBSC4 1
SBX701-60SC |Frame - Box Blade BBSC5 1
SBX701-60 Frame - Box Blade BB5 1
SBX701-72 Frame - Box Blade BB6 1
SBX701-84 Frame - Box Blade BB7 1
3 RB10028-48 |Cutting Edge - 4' 2
RB10028-60 |Cutting Edge -5' 2
RB10028-72 |Cutting Edge - 6' 2
RB10028-84 |Cutting Edge -7' 2

4 FCBM162060 |Plow Bolt- M16 x 2.0 x 60 6-9

LNM1620 Self-locking Nut- M16 x 2.0 6-9

FW16 Flat Washer- M16 6-9
5 SBX40301 A Frame - Right 1
6 SBX40302 A Frame Support Straps 2
7 RC4 R-Clip- M4 3
8 SBX10018 Bushing 2
9 SBX40304 A Frame - Left 1
10 YT1066010202 |Top Hitch Pin 1
11 BM2025120 |(Bolt- M20 x 2.5 x 120 1
LNM2025 Self locking nut M20 x 2.5 7

12 RC3 R-Clip- M3 4-7

13 SBX0013 Pin — Scarifier- M14 4-7
14 LB0010 Lower Hitch Pin- M22 2
15 BM202550 |Bolt- M20 x 2.5 x 50 6




TAR RIVER,

IMPLEMENTS

B I |: I C@ Increasing agricultural_productivity since 1974
RE SOURCES 401 Jeffreys Road %el: 252-4%2-0?0

Rocky Mount, NC 278 ax: 252-787-5855
E Q UI PM ENT WOACW_YBR?EI;I(?uipmeiZ_Cgﬁl Sales@BRGlimited.com


http://www.br-equipment.com/
mailto:Sales@BRGlimited.com



